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Note :

1v)

V)

vi)

The question paper is divided into two parts — Part-A and Part—B..
Part-A and Part-B are divided into three Sub-Sections — (1), (2) ang
(3). |

In Part-A of the question paper, there are multiple choice questions i

which select the correct alternative and then by a blue or black bali.
point pen, fill completely in the circle in OMR Answer Sheet. Do not
erase, cut or use whitener on the OMR Answer Sheet a§nswering.

1 mark is allotted for each question in the multiple G&u’cc ‘question of

Part-A. ¢
Part-B has descriptive questions. 6;

The allotted marks are given in each q

vii) All the questions of Sub-Sections of B are to be attempted all at a

time. Start each Sub-Section frcb ew page.

viii) All the questions are compu

Py tiple Choice Type Questions )
® 3T - (1)
Q Sub-Section - (1)
4 9%g 1 wfafers s, dar S ag A S wman @ »
(AP FHIad ©iF (B) 3Iue1@®
(C) §Hae & D) ¥ A IS T 1

From which lens the image of object formed is virtual, erect and smaller

than the object ?
(A) Concave lens '(B) Convex lens

(C) Plane lens (D) None of these ]
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T T QU S Tha e qur g 3 ofvw 1 gt 20 Bt 31 TN F yw A v

<1 gt Fn gt 2
(A) 53 B) 109d

© 153 20 it

(D) 1

In a spherical mirror the distance between its centre of cu@re and

pole is 20 cm. What is the distance of focus from the pol@in‘ﬁr ?

(A) Scm _ (B) 10 crﬁ g ¢ '
(C) 15 cm : | (D) 20@ 1
T % FRE e ¥ wror e den ol & ?

(A) T | $,®Qm

© i OV o ek 1
Due to which phenome&%ght does the sky appear blue ?

(A) Reflection 60 (B) Refraction

(C} Dispe ‘wo (D) Scattering 1
r@ﬁﬁ +0 SRR ) gHeht Wk gft At A Reaeht 7l 2

Qoso (B) -50

C) +25 (D) -25 1
’I;he power of a lens is + 2 dioptre. What will be its focal 1&ngth incm?
(A) +50 (B) -50

© +25 O -25 !

[ Tum over


Hindustanknowledge.com


824(IP) 4

S.

W AR F1 Frffed o, fred R & e ar & doft s F ey smar ¢
(A)  y-wmh AR B) oA
(C) Sy ar D) T & ¥ T I

In which of the following wires of domestic electric distribution is the

fuse wire connected in series ?

(A) Earth-connected wire (B) Neutral wire o&

(C) Live wire None of thes

afe wfw, wfaenw%mﬁm xl,xgx&azﬁhﬁmﬂma}

frefifes 3 w-m sy @ 2 2
(A)  x.x,=x, (B) $ X, =

(C)  x,.xy =x Q Xy Xy Xq =1 1
If the units of power, work &ﬁmn are represented by xl, Xy, Xy
respectively, then which of% ollowing relanons is correct ?

(A) = x, 606 B x

1
€ x,.x,=x D) x.x,. x;=1 1

% I g yafEa gt 31 9% T 2 Y | vaifa B
Eﬂéw{?m foraht ghft 2

(A

X

3 =%

2

B) SHA™

( 20 ™ (D) 25%a™ 1
In a conductpr 10 ampere of current is flowing. What will be the amount
of charge flowing in-2 second corresponding to it ?

(A) 10 coﬁlomb '(B) S5 coulomb

(C) 20 coulomb (D) 25 coulomb o
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Sub-Section - (2)

8. AR A% ITE 1 g B

(A) CaSO,.21H,0 (B) CaSO,.2H,0

(€) CaS0,.H,0 (D) CaSO,.5H,0
8. The formula of plaster of Paris is

(A) CasS0,.1H,0 (B) CaSO,.2H,0 G

(C) CaSO,.H,0 (D) Caso4.5&Q‘
0.  pHTM 85 Fr fierq 2 ‘ED,

(A) &t (B)

(C) SeEl= u1:> ¥ F3 T8
9.  The solution with pH 85 is Q

(A) alkaline 4<:S:Eﬂ acidic

(C) neutral 0 (D) none of these
10.  CH3—CH—CHO =11 T R

o O
&) =R “5:‘ B) wRA
(C} 2- (D) 2-Afe T
CH;—CH—CHO ,
10. IURE e of | is
CH,

$ Butanal (B) Butanol

(C}) 2-methyl propanal (D)  2-methyl propanol
11. &aq S0 § 7 $oEgEl 9T a8

(A) arurg B) ug

(C) 3Ivurg D) ffera s
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11.

12.

12.

13.

13.

14,

14.

The element having 7 electrons in its outermost orbit is

(A) Non-metal (B) Metal
(C) Metalloid | (D) Inert gas
Ffcwam ez w1 TuRiE g7 2

(A) CcaNO, (B) Ca(NO,),

(C) cCayNO, (D) Ca,NO, 0&
Chemical formula of calcium nitrate is o

(A) CaNO, | (B) Caf

(C) Ca,NO, (D) 5

frefefea & & swqw agieni 2 $\

(&) C,H, 09 CH,

(C) C,Hg 0 (D) C;H,

An unsaturated hydroca& n the following is

(A) C,H, (B) CH,

(©) 6 (D) C,H,

% SYURT - (3)
Q Sub-Section - (3)

ST
() TR g (B) WU g
(C) I gr (D) ISR grr
Blood pressure is measured by;
(A) Sphygmomanometer (B) Stethoscope
(C) Microscope (D} Micrometer
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15.

16.

16.

17.

17.

18.

18.

7
frefafed & & S9-w1 oy iy 2 2
(A) TR (B) sgfer
(C) wAwrERw (D) TR

Which of the following is plant hormone ?

(A) Thyroxin (B) Insulin

(C) Cytokinin (D) Oestrogen &

Thierft g R

(A)  TsEA (B) 9dIa (/M
(C) wEi (D) TS Q
Unisexual flower is \0

(A) Hibiscus (B &paya

(C) Mustard Rose
QS T IETE R {itt.
>

(A) BRI

(C) 3nfien 06 D) A

Example of re%e@n 1S

(A) Hydr \ (B) Bryophyllum

(€) éﬂa (D) Planaria

w %1 & oy 7 & Fopwss R0 BT @ 2

(A) ATSA (B) Ty

(C) TeH SRS (D) FERIveIEE
Depletion of ozone layer is caused by which of the following ?
(A) Oxygen (B) Vapour

(C) Sulphur dioxide (D) © Clorofluorocarbon
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19.  whfae aifas @

(A) ™R (B) e Sfawmen

(C) wd (D) 4ad
19. Natural ecosystem is

(A) Flower pots (B) Aquarium

(C) Farm " (D) Forest &
20. IR e 3 SeaEH AN O

a) =@ - w R 000

© @™ o ® ﬁb@ﬂ-‘tﬁﬂ e ]
20.  Producer in a food chain is \Q

(A) Rat | «is‘
(B) Cat O

(C) Rabbit @

(D) Green plant and b@een algae 1

\8\0 ( ot 9 )
Q ( Descriptive Questions )
| Qo Sub-Section - (1)
1. o 3w fRd we & 2 p, o, RA =Rl & g W & Femw & gy ofet % W
fafle, af
@)  P%ad e $t wg =) wy 2@ T ], g Q H g w @
(i) Qe T H TG H Wy 2@ Ul B, Wy Feve A 7 A
(i) RTW T H TGN 3l 7 & Frore H Tg F WL 3@ T R 4
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1. What are the defects of vision ? Write down the names of the lenses used

for the correction of vision defect of three persons P, Q, Rif

(1) P can see only near objects clearly but cannot see far objects

(i)  Qcan see only far objects clearly but cannot see near obj péts

(i) ~ Rcan neither see far objects nor near objects clearly. 4

2. W N HE A TEW A oA wow 2.25x10° d/@ 2-0x§1ﬁ/ﬁ &l

e swedis 6 e iR - - o 4
6 v * e s | | N < ,
(i) 9 % 9N =" @5 N7/ M -

2. The speeds of light in water and glass are res&}’ 2'25"‘10,8 Iﬁf S
and 2-0x10% m/s. Calculate the following @ﬁvc_in,dcx : 4
(1) the glass relative to water -

(ii) the glass relative to air. —

3. e e W SRAY R fre YT PR FET R 2 U AR
sty R 31 wfdy =1 o It werd % a) Y eard < T qun
ﬁmmgm’-} & 4

3. The resistance of a @Jctor depends on which factors and how ? The
resistance of a wi é? What will be the resistance of the wire when the
wire is of do ’&cngth and half the radius of the same material ? 4
1 3IgT mifhd fom i wemm § AR Prefifea € gemar @
%! fewn 7@ 4 It R 2 6

& T 7Y %1 Fam

T W F 76g Wia @ i 9K A, B AT cﬁmﬁ%lsﬁﬁmmwm,mw
I LU T O T4 Bl @ 2 | 6
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1.

O

) +h the help
State the following laws with the help of labelled diagram- with

: n?6
of the following the direction of which physical quantity ¢an be know

(1) Fleming's left hand rule

(ii) Right hand thumb rule

OR
oﬁ;e of a

Three wires A, B and C are emerging out from the mai

house. What will be the name, function and colour gfth! insulation for

each wire ? ' 6@ 6
ITUT - (2) ‘4?5
Sub-Section
() TS % [ TEERAE T % gt fafgu) 2
(i) wHiRrs @& A } % Tarafs wfie fafau) 2
(1) Write the chem@&quaﬁons for two chemical properties of
ethanol. 60 2
(i)  Write mical equations for two chemical properties of acetic
I HFET ; 2-2
8 fgaraeen srfufan
(b) e iR
Explain the following : 2~

(a) Double decomposition reaction

(b)  Neutralization reaction
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ﬁfﬁl%f@aqtﬁf‘aﬁﬁcquﬁw: 242 +2
()  pH¥MA
(i)  rTteRtor srfifa
(iil) <& ffora

HYAl
() =ffE west w1 st ¥ s fafew) & 2
(ii) Wmﬁﬁaﬁﬁmmwﬁﬁmﬁmm 2
(ifi) HeRO F Ierg gRT WHATIYY 2
Write short notes on the following : 6@ 2+2+2
(1) pH value &\0
(ii) Oxidation reaction | | o
(i) Combustion reaction. *0
(1) Write the use of bléng powder in purification of water. 2

(1i) Write the Chb equation for obtaining gypsum from plaster of

Paris. ¢ o 2

(ili) Explaimmcorrosion by giving example. 2
QQ - (3)
Q Sub-Section - (3)
3T 71 @ aun ¥e et aias i fFa woR i st @ o 249
What is ozone and how does it affect any ecosystem ? 2+ 9
@mj@mﬁmmﬁwﬁﬁﬂml 240
Describe the food chain and food vffeb with examples. 2 +0
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10. Tr=ferRea w wftm feooft ferfer 242
(%) wfd yadH
(@) ¥l

10. Write short notes on the following : 249

(a) Vegetative propagation

(b) Budding °®

11. HFa uf@ss i a1 o Heafafy & afdm aolz it

6
e (/M
it St e 1 wRE v iR 6@ | 6
11. Describe the structure and function of hu rain in brief. 6
OR o
Describe energy flow in an cco% with diagram. 6

824(IP) - 4,48,000 \'g
&
6\)
QD
&
QO
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